Bull. Korean Math. Soc. **55** (2018), No. 4, pp. 1231–1240 https://doi.org/10.4134/BKMS.b170710 pISSN: 1015-8634 / eISSN: 2234-3016

ON CONFORMAL TRANSFORMATIONS BETWEEN TWO ALMOST REGULAR (α, β) -METRICS

GUANGZU CHEN AND LIHONG LIU

ABSTRACT. In this paper, we characterize the conformal transformations between two almost regular (α, β) -metrics. Suppose that F is a non-Riemannian (α, β) -metric and is conformally related to \tilde{F} , that is, $\tilde{F} = e^{\kappa(x)}F$, where $\kappa := \kappa(x)$ is a scalar function on the manifold. We obtain the necessary and sufficient conditions of the conformal transformation between F and \tilde{F} preserving the mean Landsberg curvature. Further, when both F and \tilde{F} are regular, the conformal transformation between F and \tilde{F} preserving the mean Landsberg curvature must be a homothety.

1. Introduction

In Finsler geometry, the Weyl theorem states that the projective and conformal properties of a Finsler space determine the metric properties uniquely ([14, 16]). Therefore the conformal properties of a Finsler metric deserve extra attention. The study of conformal geometry is a recent popular trend in Finsler geometry. Let F and \tilde{F} be two Finsler metrics on a manifold M. The conformal transformation between F and \tilde{F} is defined by $L: F \to \tilde{F}, \ \tilde{F} = e^{\kappa(x)}F$, where $\kappa := \kappa(x)$ is a scalar function on M. We call such two metrics F and \tilde{F} are conformally related. A Finsler metric which is conformally related to a Minkowski metric is called conformally flat Finsler metric.

In conformal geometry, it is one important problem how to characterise conformally flat Finsler metrics. M. Hashuiguchi and Y. Ichijyō defined a conformally invariant linear connection in a Finsler space with an (α, β) -metric and gave a condition that a Randers metric is conformally flat based on their connection ([11]). Later, S. Kikuchi found a conformally invariant Finsler connection and gave a necessary and sufficient condition for a Finsler metric to be conformally flat by a system of partial differential equations under an extra condition ([13]). But people are unable to know the local structure of conformal flat Finsler metrics by those results. In [12], L. Kang has proved that

©2018 Korean Mathematical Society

Received August 11, 2017; Accepted March 13, 2018.

²⁰¹⁰ Mathematics Subject Classification. 53B40, 53C60.

Key words and phrases. Finsler metric, (α, β) -metric, conformal transformation, the mean Landsberg curvature.

any conformally flat Randers metric of scalar flag curvature is projectively flat and classified completely such metrics. The first author and X. Y. Cheng have proved that, if a conformally flat (α, β) -metric $F = \alpha \phi(\beta/\alpha)$ on a manifold M with the dimension $n \geq 3$ is a weak Einstein metric, then it is either a locally Minkowski metric or a Riemannian metric, where $\phi(s)$ is a polynomial in s ([3]). They have also characterized conformally flat (α, β) -metrics with isotropic S-curvature (See [3]). Further, the first author, Q. He and Z. Shen prove that conformally flat (α, β) -metrics with constant flag curvature must be either a locally Minkowski metric or a Riemannian metric ([5]). However, it is unfortunate that the local structure of conformal flat Finsler metrics is still unknown, even if conformal flat (α, β) -metrics.

There is the other important problem that, given a Finsler metric on a manifold M, we would like to determine all Finsler metrics which are conformally related to the given one. In [1], X. Y. Cheng and S. Bácsó characterized the conformal transformations which preserve Riemann curvature, Ricci curvature, (mean) Landsberg curvature and S-curvature respectively. In particular, they proved that, if the conformal transformation $\tilde{F}(x, y) = e^{\kappa(x)}F(x, y)$ preserves the geodesics, then it must be a homothety, that is, $\kappa =$ constant. Recently, the first author, X. Cheng and Y. Zou characterize the conformal transformations between two regular (α, β)-metrics. They prove that if both conformally related (α, β)-metrics F and \tilde{F} are Douglas metrics, then the conformal transformation between them is a homothety ([4]).

The (α, β) -metrics are those Finsler metrics which are defined by a Riemannian metric $\alpha = \sqrt{a_{ij}(x)y^iy^j}$ and a 1-form $\beta = b_i(x)y^i$ on an *n*-dimensional manifold M. They are expressed in the form

$$F = \alpha \phi(s), \quad s = \beta/\alpha,$$

where $\phi(s)$ is a C^{∞} positive function on $(-b_0, b_0)$. It is known that $F = \alpha \phi(\beta/\alpha)$ is a positive definite Finsler metric for any α and β with $\|\beta\|_{\alpha} < b_0$ if and only if ϕ satisfies the following ([2])

$$\phi(s) - s\phi'(s) + (b^2 - s^2)\phi''(s) > 0, \ |s| \le b < b_0.$$

For the above function $\phi = \phi(s)$, if we consider a 1-form β with $\|\beta\|_{\alpha} \leq b_0$, then $F = \alpha \phi(\beta/\alpha)$ might be singular at a point x with $b(x) = b_0$. Such metrics are called almost regular (α, β) -metrics.

In this paper, we are mainly concerned with the conformal transformations between two almost regular (α, β) -metrics. In the following, we assume that both F and \tilde{F} are non-Riemannian. We can prove:

Theorem 1.1. Let F and \tilde{F} be two conformally related almost regular non-Riemannian (α, β) -metrics on a manifold M of dimension $n \geq 3$. Let $\Delta := 1 + sQ + (b^2 - s^2)Q'$ and $Q := \phi'/(\phi - s\phi')$. Then both F and \tilde{F} have the same weak Landsberg curvature if and only if one of the following holds:

- (1) The conformal transformation between F and \tilde{F} is a homothety, regardless of the choice of a particular ϕ .
- (2) The conformal factor $\kappa(x)$ satisfies that $\kappa_i(x)$ is proportional to $b_i(x)$, where $\kappa_i(x) := \frac{\partial \kappa}{\partial x_i}(x)$ and ϕ satisfies

(1.1)
$$(Q - sQ')\{n\Delta + 1 + sQ\} + (b^2 - s^2)(1 + sQ)Q'' = \frac{\lambda}{\sqrt{b^2 - s^2}}\Delta^{\frac{3}{2}},$$

where λ is a constant.

By Theorem 1.1, it is easy to obtain the following corollary.

Corollary 1.2. Let F and \tilde{F} be two conformally related almost regular non-Riemannian (α, β) -metrics on a manifold M of dimension $n \ge 3$. Assume that F is weak Landsberg metric. Then \tilde{F} is also weak Landsberg metric if and only if the following holds:

- (1) The conformal transformation between F and \tilde{F} is a homothety, regardless of the choice of a particular ϕ .
- (2) The conformal factor $\kappa(x)$ satisfies that $\kappa_i(x)$ is proportional to $b_i(x)$ and ϕ satisfies (1.1).

Further, we also get:

Corollary 1.3. Let F be a conformally flat almost regular non-Riemannian (α, β) -metrics on a manifold M of dimension $n \ge 3$. Then F is weak Landsberg metric if and only if the following holds:

- (1) F is a locally Minkowski metric, regardless of the choice of a particular ϕ .
- (2) The conformal factor $\kappa(x)$ satisfies that $\kappa_i(x)$ is proportional to $b_i(x)$ and ϕ satisfies (1.1).

2. Preliminaries

For a given Finsler F = F(x, y), the geodesics of F are characterized locally by a system of 2nd ODEs as follows ([10]):

$$\frac{d^2x^i}{dt^2} + 2G^i(x, \frac{dx}{dt}) = 0,$$

where

$$G^{i} = \frac{1}{4}g^{il} \Big\{ [F^{2}]_{x^{m}y^{l}}y^{m} - [F^{2}]_{x^{l}} \Big\},\$$

and $g_{ij} := \frac{1}{2} [F^2]_{y^i y^j}$. G^i are called the *geodesic coefficients* of F.

There are many interesting quantities in Finsler geometry which vanish in Riemann geometry. We call them non-Riemannian quantities. For a non-zero vector $y \in T_p M$, the Cartan torsion $\mathbf{C}_{\mathbf{y}} = C_{ijk} dx^i \otimes dx^j \otimes dx^k : T_p M \otimes TpM \otimes TpM \longrightarrow \mathbb{R}$ is defined by

$$C_{ijk} := \frac{1}{4} [F^2]_{y^i y^j y^k} = \frac{1}{2} \frac{\partial g_{ij}}{\partial y^k} (x, y).$$

G. CHEN AND L. LIU

The mean Cartan torsion $\mathbf{I}_{\mathbf{y}} = I_i(x, y) dx^i : T_p M \longrightarrow \mathbb{R}$ is defined by

$$I_i := g^{jk} C_{ijk},$$

where $(g^{ij}) := (g_{ij})^{-1}$. It is obvious that $C_{ijk} = 0$ if and only if F is Riemannian. According to Deicke's theorem ([17]), a Finsler metric is Riemannian if and only if the mean Cartan torsion vanishes.

The Landsberg curvature $\mathbf{L} := L_{ijk} dx^i \otimes dx^j \otimes dx^k$ and the mean Landsberg curvature $\mathbf{J} := J_i dx^i$ are defined respectively by

$$L_{ijk} := -\frac{1}{2} F F_{y^m} \frac{\partial G^m}{\partial y^i y^j y^k}, \quad J_i := g^{jk} L_{ijk}.$$

Finsler metrics with $(\mathbf{J} = 0)\mathbf{L} = 0$ are called (weak)Landsberg metrics. Let

$$\begin{aligned} r_{ij} &:= \frac{1}{2} (b_{i|j} + b_{j|i}), \quad s_{ij} := \frac{1}{2} (b_{i|j} - b_{j|i}), \\ b^i &:= a^{ij} b_j, \ s_i := b^j s_{ji}, \ s^i{}_j := a^{il} s_{lj}, \ r_i := b^l r_{li}, \\ s_0 &:= s_i y^i, \ s^i{}_0 := s^i{}_j y^j, \ r_{00} := r_{ij} y^i y^j, \end{aligned}$$

where "|" denotes the horizontal covariant derivative with respect to α . Consider (α, β) -metrics $F = \alpha \phi(s)$, $s = \beta/\alpha$ on a manifold. Let G^i and G^i_{α} denote the spray coefficients of F and α , respectively, then we have [10]

(2.1)
$$G^{i} = G^{i}_{\alpha} + \alpha Q s^{i}_{0} + \{-2Q\alpha s_{0} + r_{00}\}\{\Psi b^{i} + \Theta \alpha^{-1} y^{i}\},$$
where

where

(2.2)
$$Q := \frac{\phi'}{\phi - s\phi'}, \ \Theta := \frac{Q - sQ'}{2\Delta}, \ \Psi := \frac{Q'}{2\Delta}.$$

 Put

$$y_i := a_{ij}y^j, \ h_i := \alpha b_i - sy_i,$$

$$\Phi := -(Q - sQ')\{n\Delta + 1 + sQ\} - (b^2 - s^2)(1 + sQ)Q'',$$

$$\Psi_1 := \sqrt{b^2 - s^2}\Delta^{\frac{1}{2}}[\frac{\sqrt{b^2 - s^2}\Phi}{\Delta^{\frac{3}{2}}}]', \ \Psi_2 := 2(n+1)(Q - sQ') + 3\frac{\Phi}{\Delta}.$$

By a direct computation, we obtain the following formula about the mean Cartan torsion of (α, β) -metrics [9]

(2.3)
$$I_i := -\frac{\Phi(\phi - s\phi')}{2\Delta\phi\alpha^2}h_i.$$

By Deicke's theorem, an (α, β) -metric is Riemannian if and only if $\Phi \equiv 0$.

Further, the mean Landsberg curvature of an (α, β) -metric is given by [15]

$$J_{i} = -\frac{1}{2\Delta\alpha^{4}} \{ \frac{2\alpha^{2}}{b^{2} - s^{2}} [\frac{\Phi}{\Delta} + (n+1)(Q - sQ')](r_{0} + s_{0})h_{i} + \frac{\alpha}{b^{2} - s^{2}} [\Psi_{1} + s\frac{\Phi}{\Delta}](r_{00} - 2\alpha Qs_{0})h_{i} + \alpha[-\alpha Q's_{0}h_{i} + \alpha Q(\alpha^{2}s_{i} - y_{i}s_{0})] (2.4) + \alpha^{2}\Delta s_{i0} + \alpha^{2}(r_{i0} - 2\alpha Qs_{i}) - (r_{00} - 2\alpha Qs_{0})y_{i}]\frac{\Phi}{\Delta} \}.$$

Contracting J_i with b^i , we obtain

(2.5)
$$\bar{J} := J_i b^i = -\frac{1}{2\Delta\alpha^2} \{ \Psi_1(r_{00} - 2\alpha Q s_0) + \alpha \Psi_2(r_0 + s_0) \}$$

3. The proof of Theorem 1.1

Let $F = \alpha \phi(s), s = \beta/\alpha$ be an (α, β) -metric on a manifold M, where $\alpha = \sqrt{a_{ij}(x)y^i y^j}$ is a Riemannian metric and $\beta = b_i(x)y^i$ is a 1-form on M. Assume that \tilde{F} is conformally related to F on M, $\tilde{F} = e^{\kappa(x)}F$. It is easy to see that $\tilde{F} = \tilde{\alpha}\phi(\tilde{\beta}/\tilde{\alpha})$ is also an (α, β) -metric, where $\tilde{\alpha} = e^{\kappa(x)}\alpha$, $\tilde{\beta} = e^{\kappa(x)}\beta$. Write $\tilde{\alpha} = \sqrt{\tilde{a}_{ij}(x)y^i y^j}$, $\tilde{\beta} = \tilde{b}_i(x)y^i$. Then $\tilde{a}_{ij} = e^{2\kappa(x)}a_{ij}$, $\tilde{b}_i = e^{\kappa(x)}b_i$. Further, we have ([8])

(3.1)
$$\tilde{b}_{j||k} = e^{\kappa(x)} \Big(b_{j|k} - b_k \kappa_j + f a_{jk} \Big).$$

Here $\tilde{b}_{j||k}$ denote the covariant derivative of \tilde{b}_j with respect to $\tilde{\alpha}$ and $f := \kappa_m b^m$. In the following, we always use symbols with tilde and corresponding indices to denote the corresponding quantities of the metric \tilde{F} . First, we have:

Proposition 3.1. Let F and \tilde{F} be two conformally related almost regular (α, β) -metrics on a manifold M of dimension $n \geq 3$. If F and \tilde{F} have the same weak Landsberg curvature, then the conformal transformation between F and \tilde{F} is a homothety or ϕ satisfies (1.1).

Proof. By (2.5), we have

(3.2)
$$\tilde{\tilde{J}} := \tilde{J}_i \tilde{b}^i = -\frac{1}{2\Delta \tilde{\alpha}^2} \{ \Psi_1 (\tilde{r}_{00} - 2\tilde{\alpha} Q \tilde{s}_0) + \tilde{\alpha} \Psi_2 (\tilde{r}_0 + \tilde{s}_0) \}.$$

It follows from (3.1) that

(3.3)

$$\tilde{r}_{ij} = e^{\kappa(x)} [r_{ij} - \frac{1}{2} (\kappa_i b_j + \kappa_j b_i) + f a_{ij}] \\
\tilde{s}_{ij} = e^{\kappa(x)} [s_{ij} - \frac{1}{2} (\kappa_i b_j - \kappa_j b_i)] \\
\tilde{r}_i = r_i - \frac{1}{2} (b^2 \kappa_i - f b_i) \\
\tilde{s}_i = s_i - \frac{1}{2} (f b_i - b^2 \kappa_i).$$

Using (3.3), by a direction computation, it is easy to obtain that

$$e^{\kappa(x)}\overline{\tilde{J}} - \overline{J} = -\frac{\Psi_1}{2\Delta\alpha^2} [\alpha f(1+sQ) - (s+b^2Q)\kappa_0],$$

where $\kappa_0 := \kappa_i y^i$. By assumption, we have $\overline{\tilde{J}} = \tilde{J}_i \tilde{b}^i = J_i \tilde{b}^i = e^{-\kappa(x)} J_i b^i = e^{-\kappa(x)} \overline{J}$. Thus one has

(3.4)
$$\Psi_1[\alpha f(1+sQ) - (s+b^2Q)\kappa_0] = 0.$$

It is obvious that $\Psi_1 = 0$ from (3.4), i.e., ϕ satisfies (1.1), or

(3.5)
$$\alpha f(1+sQ) - (s+b^2Q)\kappa_0 = 0.$$

In the next step, we prove that the conformal transformation between F and \tilde{F} is a homothety by (3.5). To simplify the computations, take an orthonormal basis at x with respect to α such that

$$\alpha = \sqrt{\sum_{i=1}^{n} (y^i)^2}, \qquad \beta = by^1$$

Further, we take the following coordinate transformation ([7]) in T_xM , ψ : $(s, u^A) \to (y^i)$:

$$y^1 = \frac{s}{\sqrt{b^2 - s^2}}\bar{\alpha}, \qquad y^A = u^A,$$

where $\bar{\alpha} = \sqrt{\sum_{i=2}^{n} (u^A)^2}$. Here, our index conventions are

$$1 \le i, j, k, \ldots \le n, \quad 2 \le A, B, C, \ldots \le n$$

We have

$$\alpha = \frac{b}{\sqrt{b^2 - s^2}}\bar{\alpha}, \qquad \beta = \frac{bs}{\sqrt{b^2 - s^2}}\bar{\alpha}.$$

Then, from (3.5), we have

(3.6)
$$\frac{b^2 \bar{\alpha}}{\sqrt{b^2 - s^2}} (1 + sQ) \kappa_1 - (s + b^2 Q) (\frac{s\bar{\alpha}}{\sqrt{b^2 - s^2}} \kappa_1 + \bar{\kappa}_0) = 0.$$

The above equation is equivalent to the following two equations.

(3.7)
$$(b^2 - s^2)\kappa_1 = 0,$$

$$(3.8)\qquad (s+b^2Q)\kappa_A=0$$

If $s + b^2 Q = 0$, we can easily get $\phi(s) = a_0 \sqrt{b^2 - s^2}$, where a_0 is a constant. In this case, it is clear that $\phi - s\phi' + (b^2 - s^2)\phi'' = 0$. Then (α, β) -metric F is not a positive definite Finsler metric. Thus (3.8) implies $\kappa_A = 0$. By (3.7), one has $\kappa_1 = 0$. Hence $\kappa_i = 0$, i.e., the conformal transformation between F and \tilde{F} is a homothety.

Further, we have:

Proposition 3.2. Let F and \tilde{F} be two conformally related almost regular (α, β) -metrics on a manifold M of dimension $n \geq 3$. If F and \tilde{F} have the same weak Landsberg curvature and ϕ satisfies (1.1), then the conformal factor $\kappa(x)$ satisfies that $\kappa_i(x)$ is proportional to $b_i(x)$.

Proof. From (2.4) and (3.3), by a series of direct computations, we have

$$J_i - \tilde{J}_i = -\frac{1}{2\Delta\alpha^4} \left\{ \frac{\alpha}{b^2 - s^2} [\Psi_1 + s\frac{\Phi}{\Delta}] [f\alpha^2 - \beta\kappa_0 + \alpha Q(f\beta - b^2\kappa_0)]h_i \right. \\ \left. + \alpha [\frac{1}{2}\alpha Q'(f\beta - b^2\kappa_0)h_i - \frac{1}{2}\alpha^3 Q(fb_i - b^2\kappa_i) + \frac{1}{2}\alpha Q(f\beta - b^2\kappa_i)]h_i \right]$$

$$(3.9) \qquad -b^2\kappa_0)y_i - \frac{1}{2}\alpha^2\Delta(\kappa_i\beta - b_i\kappa_0) - \frac{1}{2}\alpha^2(\kappa_i\beta + b_i\kappa_0) + \alpha^3Q(fb_i) - b^2\kappa_i) + \kappa_0\beta y_i - \alpha Q(f\beta - b^2\kappa_0)y_i]\frac{\Phi}{\Delta}\}.$$

By assumption and (3.9), one can obtain

$$0 = \frac{s}{b^2 - s^2} [f\alpha^2 - \beta\kappa_0 + \alpha Q(f\beta - b^2\kappa_0)]h_i + \frac{1}{2}\alpha Q'(f\beta - b^2\kappa_0)h_i - \frac{1}{2}\alpha^3 Q(fb_i - b^2\kappa_i) - \frac{1}{2}\alpha^2 \Delta(\kappa_i\beta - b_i\kappa_0) - \frac{1}{2}\alpha^2(\kappa_i\beta + b_i\kappa_0) + \alpha^3 Q(fb_i - b^2\kappa_i) + \kappa_0\beta y_i - \frac{1}{2}\alpha Q(f\beta - b^2\kappa_0)y_i.$$
(3.10)

 $(3.10) \times (b^2 - s^2)$ yields

$$0 = -\frac{1}{2}\alpha^{2}(s + s\Delta + b^{2}Q)(b^{2} - s^{2})\kappa_{i} + \alpha b_{i}\{s[\alpha f(1 + sQ) - (s + b^{2}Q)\kappa_{0}] \\ + (b^{2} - s^{2})\frac{Q'}{2}(\alpha f s - b^{2}\kappa_{0}) + \frac{\Delta}{2}\kappa_{0}(b^{2} - s^{2}) + \frac{1}{2}(\alpha fQ - \kappa_{0})(b^{2} - s^{2})\} \\ + y_{i}\{(b^{2} - s^{2})[\kappa_{0}s - \frac{Q}{2}(\alpha f s - b^{2}\kappa_{0})] - (b^{2} - s^{2})\frac{Q'}{2}s(\alpha f s - b^{2}\kappa_{0}) \\ (3.11) \quad -s^{2}[\alpha f(1 + sQ) - (s + b^{2}Q)\kappa_{0}]\}.$$

Simplifying further, we get

$$0 = -\frac{1}{2}\alpha^{2}(s + s\Delta + b^{2}Q)(b^{2} - s^{2})\kappa_{i} + \alpha b_{i}\{\alpha f[s(1 + sQ) + \frac{1}{2}sQ'(b^{2} - s^{2}) + \frac{1}{2}Q(b^{2} - s^{2})] + \kappa_{0}[\frac{\Delta}{2}(b^{2} - s^{2}) - \frac{1}{2}Q'b^{2}(b^{2} - s^{2}) - s(s + b^{2}Q) - \frac{1}{2}(b^{2} - s^{2})]\} + y_{i}\{\kappa_{0}[(b^{2} - s^{2})(s + \frac{b^{2}}{2}Q) + (b^{2} - s^{2})\frac{Q'}{2}sb^{2} + s^{2}(s + b^{2}Q)] - \alpha f[(b^{2} - s^{2})\frac{1}{2}sQ$$

$$(3.12) + (b^{2} - s^{2})\frac{Q'}{2}s^{2} + s^{2}(1 + sQ)]\}.$$

Let

$$M_{1} := -\frac{1}{2}(s + s\Delta + b^{2}Q)(b^{2} - s^{2}),$$

$$M_{2} := s(1 + sQ) + \frac{1}{2}sQ'(b^{2} - s^{2}) + \frac{1}{2}Q(b^{2} - s^{2}),$$

$$M_{3} := \frac{\Delta}{2}(b^{2} - s^{2}) - \frac{1}{2}Q'b^{2}(b^{2} - s^{2}) - s(s + b^{2}Q) - \frac{1}{2}(b^{2} - s^{2}),$$

$$M_{4} := (b^{2} - s^{2})(s + \frac{b^{2}}{2}Q) + (b^{2} - s^{2})\frac{Q'}{2}sb^{2} + s^{2}(s + b^{2}Q),$$

$$(3.13) \qquad M_{5} := (b^{2} - s^{2})\frac{1}{2}sQ + (b^{2} - s^{2})\frac{Q'}{2}s^{2} + s^{2}(1 + sQ).$$

Noting that the expression of Δ , by a direction computation, it is surprising that $M_1 = -M(b^2 - s^2)$, $M_2 = M$, $M_3 = -sM$, $M_4 = b^2M$, $M_5 = sM$, where

$$M := s + \frac{1}{2}sQ'(b^2 - s^2) + \frac{1}{2}Q(b^2 + s^2).$$

Then (3.12) can be reduced to

(3.14)
$$M\{(b^2 - s^2)\alpha^2\kappa_i - \alpha b_i(\alpha f - s\kappa_0) + y_i(\alpha f s - \kappa_0 b^2)\} = 0$$

We claim $M \neq 0$. Suppose that M = 0, we get the solution of ordinary differential equation M = 0,

$$Q=\frac{k(b^2-s^2)-1}{s},$$

where k is a number independent of s. Then we have $1 + sQ = k(b^2 - s^2)$, i.e.,

$$\frac{\phi}{\phi - s\phi'} = k(b^2 - s^2).$$

Taking s = 0 in above equation, we get $k = 1/b^2$. Then the above equation becomes

(3.15)
$$\frac{\phi}{\phi - s\phi'} = \frac{1}{b^2}(b^2 - s^2)$$

which implies $\phi = a_1 \sqrt{b^2 - s^2}$, where a_1 is a number independent of s. It contradicts that F is a positive definite Finsler metric. Thus $M \neq 0$.

By (3.14), we have

(3.16)
$$(b^2 - s^2)\alpha^2 \kappa_i - \alpha b_i(\alpha f - s\kappa_0) + y_i(\alpha f s - \kappa_0 b^2) = 0.$$

Then we can obtain

(3.17)
$$\alpha^2(fb_i - b^2\kappa_i) + \beta^2\kappa_i - \beta\kappa_0b_i + b^2\kappa_0y_i - \beta fy_i = 0.$$

Differentiating (3.17) with respect to y^j yields

(3.18)
$$2y_j(fb_i - b^2\kappa_i) + 2\beta\kappa_i b_j - \kappa_0 b_i b_j - \beta b_i \kappa_j + a_{ij} b^2\kappa_0 + y_i b^2\kappa_j - \beta f a_{ij} - f y_i b_j = 0.$$

Contracting (3.18) with a^{ij} yields

(3.19)
$$(n-2)(b^2\kappa_0 - \beta f) = 0.$$

Thus the conformal factor $\kappa(x)$ satisfies that $\kappa_i(x)$ is proportional to $b_i(x)$, i.e., $\kappa_i(x) = lb_i(x)$, where l := l(x) is a scalar function on manifold M.

4. The regular case

In this section, we consider the regular (α, β) -metrics. Firstly, we have:

Lemma 4.1. Let $F = \alpha \phi(s)$ be a regular (α, β) -metric on a manifold M. If $\phi(s)$ satisfies (1.1), then F is Riemannian.

Proof. Because F is a positive definite Finsler metric, noting that the expression of Δ , we have

(4.1)
$$\Delta = \frac{\phi[\phi - s\phi' + (b^2 - s^2)\phi'']}{(\phi - s\phi')^2} > 0.$$

By (1.1), one obtains

$$\Phi\sqrt{b^2 - s^2} = -\lambda\Delta^{\frac{3}{2}}.$$

Let s = b in above equation and by (4.1), it is obvious that $\lambda = 0$. Thus we get $\Phi = 0$. Then (2.3) implies F is Riemannian.

Further, by Theorem 1.1, we have:

Theorem 4.2. Let F and \tilde{F} be two conformally related regular (α, β) -metrics on a manifold M of dimension $n \geq 3$. Then both F and \tilde{F} have the same weak Landsberg curvature if and only if the conformal transformation between F and \tilde{F} is a homothety.

It is easy to obtain the following corollary from Theorem 4.2.

Corollary 4.3. Let F and \tilde{F} be two conformally related regular (α, β) -metrics on a manifold M of dimension $n \geq 3$. Assume that F is weak Landsberg metric. Then \tilde{F} is also weak Landsberg metric if and only if the conformal transformation between F and \tilde{F} is a homothety.

Finally, we also get:

Corollary 4.4. Let F be a conformally flat regular (α, β) -metrics on a manifold M of dimension $n \geq 3$. If F is weak Landsberg metric, it is a locally Minkowski metric or Riemannian.

Corollary 4.4 is just the main theorem in [6].

References

- S. Bácsó and X. Cheng, Finsler conformal transformations and the curvature invariances, Publ. Math. Debrecen 70 (2007), no. 1-2, 221–231.
- [2] S. Bácsó, X. Cheng, and Z. Shen, Curvature properties of (α, β)-metrics, in Finsler geometry, Sapporo 2005—in memory of Makoto Matsumoto, 73–110, Adv. Stud. Pure Math., 48, Math. Soc. Japan, Tokyo, 2007.
- [3] G. Chen and X. Cheng, An important class of conformally flat weak Einstein Finsler metrics, Internat. J. Math. 24 (2013), no. 1, 1350003, 15 pp.
- [4] G. Chen, X. Cheng, and Y. Zou, On conformal transformations between two (α, β)metrics, Differential Geom. Appl. 31 (2013), no. 2, 300–307.

- [5] G. Chen, Q. He, and Z. Shen, On conformally flat (α,β)-metrics with constant flag curvature, Publ. Math. Debrecen 86 (2015), no. 3-4, 387–400.
- [6] X. Cheng, H. Li, and Y. Zou, On conformally flat (α, β)-metrics with relatively isotropic mean Landsberg curvature, Publ. Math. Debrecen 85 (2014), no. 1-2, 131–144.
- [7] X. Cheng and Z. Shen, A class of Finsler metrics with isotropic S-curvature, Israel J. Math. 169 (2009), 317–340.
- [8] _____, Finsler Geometry, Science Press Beijing, Beijing, 2012.
- [9] X. Cheng, H. Wang, and M. Wang, (α, β)-metrics with relatively isotropic mean Landsberg curvature, Publ. Math. Debrecen 72 (2008), no. 3-4, 475–485.
- [10] S.-S. Chern and Z. Shen, *Riemann-Finsler Geometry*, Nankai Tracts in Mathematics, 6, World Scientific Publishing Co. Pte. Ltd., Hackensack, NJ, 2005.
- [11] Y. Ichijyō and M. Hashuiguchi, On the condition that a Randers space be conformally flat, Rep. Fac. Sci. Kagoshima Univ. Math. Phys. Chem. 22 (1989), 7–14.
- [12] L. Kang, On conformally flat Randers metrics (in Chinese), Sci. Sin. Math. 41 (2011), no. 5, 439–446.
- [13] S. Kikuchi, On the condition that a Finsler space be conformally flat, Tensor (N.S.) 55 (1994), no. 1, 97–100.
- [14] M. S. Knebelman, Conformal geometry of generalised metric spaces, Proc. nat. Acad. Sci. USA, 15(1929), 376–379.
- [15] B. Li and Z. Shen, On a class of weak Landsberg metrics, Sci. China Ser. A 50 (2007), no. 4, 573–589.
- [16] H. Rund, The Differential Geometry of Finsler Spaces, Die Grundlehren der Mathematischen Wissenschaften, Bd. 101, Springer-Verlag, Berlin, 1959.
- [17] Z. Shen, Differential Geometry of Spray and Finsler Spaces, Kluwer Academic Publishers, Dordrecht, 2001.

GUANGZU CHEN SCHOOL OF SCIENCE EAST CHINA JIAOTONG UNIVERSITY NANCHANG 330013, P. R. CHINA *Email address*: chenguangzu1@163.com

LIHONG LIU SCHOOL OF SCIENCE EAST CHINA JIAOTONG UNIVERSITY NANCHANG 330013, P. R. CHINA *Email address*: 304482707@qq.com